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Full Marks — 100
Group A-50 Marks
Group B-50 Marks

|
2023
PAPER I—GENERAL STUDIES AND ARITHMETIC

Time Allowed = 2 Hours

& General Instructions for All Candidates.

Steps in arriving at the answers in Arithmetic & Reasoning questions must be
shown clearly in the space provided in the answer booklet.
Failing to mention the steps will be liable to deduction of marks.

Answers may be given either in English or in Bengali or in Nepali only.
But all the answers must be in one and the same language. In case of any doubt or discrepancy,
the Board will rely on the English version only.

GROUP-A [GENERAL STUDIES]

()] (i)/Who was the author of ‘Bartaman Bharat’? 2x6=12

TETA SIS’ AgHa Wi & fweme -

—

- e A - e R Y

(ii), Name the cellbody of neurone.

i
ST RIS B 62

i e T R

(i;} The crack happens on the surface of a glacier is known as

R IR PO A
o o Ferdra afe s g e / e ¥ wires?

(i/) How much time it takes the sunlight to reach Earth from Sun?
i ol (A <{fATTe CTTS TS Fw wqel
s FeRoreT Jeft I hid WA 87
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(y Ihole (Karnataka) Prasashti describes about which famous king?
SRR () ey (It @R Regre Jeifs FITE wiaee wirar e .
TR (Ffesh) Tafedl 7 Tt T avi Te?

(vi) What is the capital of Iceland?
SIS G A5 2
SIS [T & &2

() (}} Who was the founder of *Ajibik’ community? The five principles of Jainism is popularly known
as— 4X5=20
R eI aifobrel o o ¢ tom i A ers awa A <= 2w 2.
" SIS R W g2 S - T R & R sie?

VAT s TSR 0355 ALY L S A ALl S48

(ii) Who invented carbon dioxide gas? What is the molecular weight of carbon dioxide?
I CRAARE T (3 ST T 2 Pl CRSTHIETH RE T 7
HE SIS N SR TR? el STETFATSH SV 5o o1 HISTRIER T i 22

(lu)/W}uch Instrument measures the relative humidity of air? The phenomenon of sea breeze occurs
during which time of a day?

Wwﬁmmmmﬁﬁmﬁwm?ﬁmmwwmmm _'
ﬂ%‘wﬁmmmmv

meﬁmmﬂﬁa?ﬁmﬁmmmgﬁm@?

(nyWhlch plant hormone plays an important role in the growth of fruit of a plant? Adreno Cortico
Trophic Hormone (ACTH) is secreted from which gland?

mmwﬁmmm@wﬁmmﬂnm?mmﬁ%wm
ACTH (3 2ifg (3% wf5s 2372

mmm@mmwmwvwﬁﬁamm(wmm
THSe! Tashie Te? ; '

(v)- Michael Jordan was famous for which field of sports? Famous Lawn Tennis
belonged to which country?

v wmmmqmmmmﬁm?mm
. I (ATIR & fegere e

m%%ﬁaﬁﬁﬁuﬁz%?ﬂzm%ﬁnmmm@maa

player Andre Agassi
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3) RBSI-Sgt.-KP(F)/P-1/2023 -

(3) (i) Inwhichyear Montegu-Chelmesford Reforms Act was passed? In which year ‘Muslim League’

was founded? Who wrote ‘New Lamps for Old’? 6x3=18
T AN TCOB-GTCES FCHR B2 o 2 7 T AN TR oA’ e 22 ‘New Lamys for
0ld’ & fercafereiei ?

e e e 5 wrer uw v ford? qitem femmet T g Hrern T o
' T TR 3T W a2

()/Smentlst Niels Bohr explained the structure of an atom with the help of which theory? How

many isotopes of Chlorine is found? Define Isotone.

W@ T @R IR TG AT SRR 516 AR FCE 2 G Fb SREAG w2 ?
HRAIGH IS I ?

S rora S 5 s o P TS T I 1 GO S TR FeA
ST Y557 SgHreen qrueT R |

(ii})- Headquarters of International Monetary Fund (IMF) is located in which p]acé? Which
Constitutional Amendment Act incorporated Part-IV A into Indian Constitution? Lake Zurich is
located in which country?

SRR RO TS (IMF)~63 raved @ SRiEe? Fo on MR{Am Ao 2t
Part-IV A S8 R4 TOLE 41 202 G Fi @ e SRfFe 2

IRIET e #9 (IMF) ﬁg@mﬂﬂ%@@ﬁ%mﬁ%&@ﬁﬁWA‘ﬂ% IR
gy ga@aw mﬁ7 @ Fid 1 %mm B?

GROUP-B [ARITHMETIC & ilEAsomNG]
ARITHMETIC :
: _ 5x5=25
(4) If done alone, A can do a work in 15 days B cando if in 10 days and C can do tﬁe same in 12 days.
They started the work together and after 2 days C left. Remamlng work was completed by A and B.

How many days altogether will be needed to complete the work?

! B, A G e 15 Wi, B 10ﬁm¢wcuﬁmmwmw@mamﬁamww
2 fi= o/ C 577 T | A& I A @ B A= I A, T Fefd Fa0e (Nlo 3 et 31w =it 2

T T W, A S i 15 e, B @ 10 fm i C @ i i 12 o e | w8 wm e
¥& TR a1f 2 i g C @ 1 S | e W A TB W 0 | T S W 0 T i are?
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(5) Two taps of a water tank can fill the tank in 12 hours and 10 hours respectively. Whereas another tap

(6)

)

8)

can empty the tank in 20 hours. If all the three taps are opened simultaneously, how much time it
will take to fill up the water tank?

<G (BIRIEST 76 7o JAFH 12 58 10 W5 (GG 1 0 | 9 G 71 20 VB w1l
e 0 | 7f ol o1 TR T A W, R TOw @ (A o @A

I TAGHP! GEaar Terel FomT: 12 Hver 31 10 SIery wrt o7 | U 371 FeTel 20 S0 gy
Tt T w1 AfE i oree G Sfere ggs v i ana wre?

Three labourers, namely, Ram, Shyam and Jodu started a factory investing ¥ 6,500, ¥ 9,100 and
< 5,200 respectively. After one year they yielded a profit of ¥ 14,400. They divided 2/3rd of that
among them equally and rest of the profit were shared between them as per ratio of their invested
capital. How much profit each of them got?

fomrem =ifiis 1, =1 @ T TAFE 6,500 B, 9,100 Bt 8 5,200 i 14w FTw G616 SR ZoAw
T I TRF AT 1T 14,400 TIF #1S AR | @ ST 2/3 TH O AISIE G IS Feyieet

- TFHE WIAITS S5 FCF T, & 3© Bl A ?

i TGy, T, WM 3 Sige HEE: 6,500, F 9,100 317 & 5,200 TR HEGHT TE T | T T
TS TN T 14,400 T TR | AIHEIE 2/3 W FHewer T TG A1 17 St e sieest et
T YSil ST T ) STIIH STIRE S | TAHe Hi AT HH?

If each side of a square is increased by 10%, what shall be the percentage increase of its area?
mﬁfzwaﬁﬁmm 10% & 91 A, Crawe odl T i AT ?
IE T 1 7T T8 10% o sigdl w7, F91 &5t wiawd 9 i gio?

In an examination 80% of the examinees passed in English and 85% passed in Mathematics. 75% of
the examinees passed in both the subjects. But altogether 45 examinees failed in both the subjects.
How many candidates appeared in the examination?

CRIGT AT 80% ZAIECS 8 85% M ANt = | Tow g «ivt TR 75% | s Sow @
45 T AR cFe IR | (G AT oy T 2

T T 80% Temedl s 9| TR A 85% MO Ur" W1 75% qivened < fawar 1w MW
e 45 qhenel <& o e/ sravhel WU | i IHTER e Sufie fore?
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REASONING [BENGALI VERSION]

©) T e SVef S T At epefe Teg i ¢ 2x2=4
BOWWWW@WﬂﬂmﬂlwamwﬂﬁﬂWMﬂwﬁﬂ W

e (2) 3T B ST F6I 4T |
(b) 2 & 9@ va fF s R | )
(c) zmmnqm—ﬁ?ﬁrﬁ%\e%@ﬂ?cﬂﬁ ﬁﬁ@aﬂmﬁml
(d) 5% =g forioR | ‘
(e) 6% BId wyAT foawi& |
() 155 g fommifen TH T& |

(i) ToE Td Foae Gk fFes (e, e o9 e At

(a) 12 (b) 10 ) © 5
(i) FoT9 2T f&FeEs QE? | -
(a) 19 ) 17 © 15 (@) 13
(10) Nwa Ba o emafR Teg e : 2x3=6

&6 AT FECE TGS

| afmiRe @

) me@ﬁm@wﬁmwwmﬁw,mmﬂwwwm
(@ R () U ©S (d P
(ii) R @l SfEiE Qi e SRS T 938 FEEE ST 7, wma‘fﬁmﬁmwm
. (a) T ® R : © Q (d S
(iii) WW@%WW@ (2B SRR A, Sior @ 39 7 Fot w9 T
(@ R ®»Q © S | @ P
(1) T crent S I I A0 enafr Taw fi ¢ ‘ 2x3=6
A Rf5 B-a9 s 14 ForE T AR
C RS A-ax Wit 6 o T =M
P RS C-47 ~ARsCs 4 bR T8 SR
C & P @ H-43 g @1 P, C, H AT
0 R H Rrfie wiweifice 6 e e =R

O AMPADEISUT o
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AU

(i) =T H R e 10 5T Sam oot | oot 1 4ifices 90 4 vt co11 | @3 &1 C e c3ee 0 fiom
A
(@) 2 (b) 10, ) 4 (d) 6
(ii) 7 A b L3 Safiice 2 bt yiea e R s O Rt siffotfices 4 b 09 2, O L R R g
e T 5 F e

(a), 10 (b) 12 © 7 (d) 14
(iii) B 7 H [ fow Asiee o fire safo? :
(a) T (OXica i (c), Ta-stfiew (d) A6

(12) It (ST UG ST 02 #its ol T v 8 1-5%6=9

TR vff +A1fes TFagEy Tem @ e F0@ (IE 12 oW 901 wiE | 1 799 AlfeS A, B,C,D,E ¢
F w2 face 93 I3 932 2 793 At M, N, O, P, Q 8 R Te&a face T (3 3¢ OIC2 | 1 932 2 759
AR it iz fies T2 7= 301 9|

A, E~99 It T e s
093 s fashn T A~aa TR 367 =iz
0 932 Q97 WA 3 & 37 =i |
C @33 D =Amiiiif 36 ez |
C 9 D-47 (83 AT 2% 367 R |
B 4R C-43 AR 3 e I61 Wiz |
M-47 Hit¥ & D97 AR 301 =z
Q, P~ 3% At I3 =3 |
R, A~93 AR 367 <R |
(i) D~ Mt 9O T & 0T SR
(@ A ® C (c) By d F
(if) O-a7 FieT vgd TH @ I WR? :
@,R () Q ©M @ N
(iii) C-99 YRR & ICT AMR?
(a R ‘BN ©,Q @ M
(iv) wiFIfncs IX 30 I67 AR AR FATS I 367 Re
(a) M9k 0 (b) E4R B - (©,EaRF (d) D9 F
(v) P93 TARR G 307 WR?
(a) A (®) B . ©C @D
(vi) A 93 D97 3% TRRITT @ 367 |ITR? s
(a) E (b) B  ©F @ L

)
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PAPER II—ENGLISH

Time Allowed — 1 Hour Full Marks — 50

Use the alphabets X, Y, Z in place of name, address etc. if necessary.

1. Study the information below and write a newspaper report (witkin 100 words) on Royal Bengal
Tiger invades a village in Gosaba Block. .10
Points: Gosaba, Sﬁndarban — 16th February - cvéning — A full grown Royal Bengal Tiger - lifts a

cow — attacked one inhabitant — tiger trapped in a cowshed - villagers guard the shed —
Forest officials arrive - tranquiliser used — tiger caught and released in core forest.

Or,

Write a précis of the given passage and add a suitable title to it. ~ 10

A poor woman once came to Buddha to ask him whether he could give her any medicine to restore

her dead child to life. The holy man, touched by the great sorrow of the woman, told her that there

was only one medicine that could revive her son. He bade her bring him a handful of mustard seeds

from a house where death had never entered. The sorrowing mother went from door to door see]éing

mustard seeds, but at every door she met with sad replies.IOnc said “I have lost my husband”.

Another said, “Our youngest child died last year”. She returhcd with a heavy heart to Buddha and

told him the result of her quest. Then Buddha to]d her gently and tenderly that she must not think -

much of her own grief, since sorrow and death are common to all. - : K
v

2. Translate into English: ; ‘ ’ 2x10

(For caTndidates who had opted for Bengali)

(a) SPTIOIR IR GT ST A |

(b) RIPNSANCT ICIY T R W &> I &+ |
(c) 1 % IEG! 3~ PCaC? '

(d) A TR (o @Rl g < I |

(e) IECR FNI T 8= g wiF =g
() AR T I @ e |

(g) W1 OF FoorF AFH 327 I3 |

(h) SR =1 TR 9 P TeaRed =)
(i) AR Tt IR WRAF 7K o7 T |

() &I cormm Toh! 1, WS wehiR |

26510 = - _ v Please Turn Over
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(3)
3. Make sentences with the following Idioms/phrases:
(a) Atlength -
(b) By no means
(c) Inlieuof r
(d) Kith and kin «
(e) Out of sorts ~

4. Change the voices from Active to Passive:
(a) Why have you bou ght this?
(b) Mr. Dey will have taught this class.
(¢) Iknow him.
(d) Tknow that he did the work.
(e) His conduct annoyed me.

5. Fill in the blanks with appropriate prepositions:

(a) Tam acquainted him.

(b) - He has a great .apathy his studies.

@:) You should commit the passage ... memory.
(d) He despairs success. '

(e) Ielicited the information ____ him, -

6. Match the following: _
(a) Apes : > (i) Bleat
(b) Owl ~ $i

*  (c) Sheep”

(d Elep%v—) Grunt
(e) Pigs ~(v) Trumpet

RBSI-Sgt,-KP(F)/P-11/2023

1x5=5

1x5=5

1x5=5

1x5=5
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PAPER III—BENGALI/NEPALI/HINDI/URDU

Time Allowed — 1 Hour . Full Marks — 50

Use the alphabets X, Y, Z in place of name, address etc. if necessary.

(For candidates who had opted for Bengali.)

1. foes eive SEefe e 30 SHie i TRAMPGER B Siae 200 =0 GG elfSTan T51 T 2
. , 30

SHATS P TLEF ALK
@ 3 e SR e ATl — ARRES AR ST ST — witralfe 8 weAfaeEesi
AT T T — T IS s G A — Rfow FoAr @ KA gordg e A
0T AT — FAPRANT TG R ~AREIT o — SR 3RS AR e Ao
o w3 S — WWWWGHNWWWWﬁ
20/30 I2EF T |

(For candidates who had opted for Nepali.)

mﬁ@mmﬁmﬁwmwﬁzoowmuﬁéﬁ/ﬁéﬁaﬁq
30

wre fred Wi dehe
;e STt T ST — fee TRe e e dia — e S ST e
VfHRTa TR SET — ShEd: T T FH — fafir Fiemwes s faure aos i
T T g — FRGFTR BRI Tt 7 e 7gg — fafi= FerriEn fUsd S dahe
&g T T Afe — STFeeE 5R A TR W e S A ST AT
20 3f@ 30 el 7
(For candidates who had opted for Hindi.)

Frafefas T & STEM F g¢ A drwha 2 aamer v & foa stfvwas 200 v # v wiaagw
fafaa: 30
qRA & JI76 Hehe
T S it 3 e 1 ST — W 9 STt W — SRS T TR aden Q
S T S — A el T B i QS — fafi e wd falet ot w1 o e
# ger — __ werrc@rt ¥ s Frerd @) i 9w — i wer # ¥ o g
fadr w9 Q TreaeTel § — A 1 geiger fafir wed, T 7 ¥ e g it s st

209 30 96l FAHA|

26511 . | Please Turn Over
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(For candidates who had opted for Urdu.)

s
_éi‘._‘.&,;u,_g“ﬂ);L‘:JlVO~,)£J¢,nJ£JiLJPL@[?J:JJJ(bLfZ)?JQL:(”éé_JU:Q;,

(L}ELJJ”Luﬁ)c_éf_'_)gf,ﬁ"ﬁ;”llu’.:l//;;—,fjjKlj_l.:L%JJG—:{)G'J&gwlﬂjJsfju “ell
SO S -t AL S Suk ik oS B Ve L SZ R CE S i
St B SRS - S e ST WL 2 St (s

_L-;u»Lu!w%c.r-i_bé_fwﬁ-iv‘}gv,,ér&gz:'%

(For candidates who had opted for Bengali or Nepali)

2. AtE A AT A I 8 | 2x10=20
(1) Preséntly the scenario has changed.
(ii) Itis almost ten years since they left this place.
(iii) Ram has been suffering from fever for a week.
(iv) His honesty is beyond dispute.
(v) Sometimes it is difficult to speak the truth.
(vi) Not many people would like him.
(vii) I cannot hang back, when others are advancing.
(viii) He is superior to me in all respects.
(ix) He is determined to climb mountain.

(x) Smoking is injurious to health.

(For candidates who had opted for Hindi.)

Translate into Bengali :

() TH A g SR gw el
(i) ;S99 gY, § 39 TIM 1 SIga 56 T
(iii) T FHTE q T @R 4 tifeq &
(iv) ST Hea arifey )
(v) Ffi-ft e dier giemet S
(vi) 3 M 39 TET e A |
(vii) W& 37 <l o o @ ¥, < 9 T o wepag
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